MRS BAUSTRASSE

Rental|Sales|Service

» Mobile Road Systems

| MRS - Super Heavy |

Profile 3.0 mm

Roughened

7.12m?

Usable area
per panel

Camlock Connector
Order No.: 50 600000

Material: polyethylene, high molecular weight
Dimensions: 4000 x 2000 x 41 mm (incl. Profil) Overlap edge: 150 mm

Weight per panel: approx.. 360 kg
Surface / colour: 3.0 mm & roughened profile / black-coloured

Load capacity: approx. 260 t (depending on the ground conditions)
Transport per truck: 60 units (427 m?)

» Properties

m Easy and quick to transport (forklift)

m Suitable as a construction road, work area, parking lot or turning area
m Good traction thanks to the special MRS surface design

m Safe access for vehicles and people

m Can be laid immediately - no ground preparation required

m Avoids severe ruts and damage

m Flexible, robust, hard-wearing, long service life

m Low risk of theft compared to aluminum and steel mats

Road constructionand
Dwellsy | aocess routes

—
)
ﬁ Mobie crane
working spaces
—
)

E

mThe ultimate heavy duty
mat. With its dimensions of 4 x
2 m, it offers the ideal con-
ditions for the heavy load in-
dustry in the areas of line con-
struction, wind farms and other
heavy load transports of all
kinds. The MRS - Super Heavy
also enables the use of special
vehicles, e.g. with extra width,
in open terrain. The innovative,
overlapping connection system
provides the highest level of
stability and resilience.

B M +49 176 11007755




MRS Temporary Roadways
serve toprotect

or secure the subsoil

» Accessories

| MRS - Super Heavy Accessories

The MRS - Super Heavy Ground Protection Panels are laid overlapping.
Quick and secure installation with our Camlock System Connector.

m Camlock System Connectors
Made of metal,

for quick and simple connections.
on request

m Load Handling Devices
Made of metal,

~ £
% for quick and simple connections.
= ™ on request

Symbol photo

mMRS Super Heavy - Ramp Top
on request

Sketch

= MRS Super Heavy - Ramp Below
on request

Sketch



» MRS Super Heavy - User manual

Lifting and laying:
Each panel has 4 lifting lugs. A lifting device must be inserted into each eyelet. These devices must in turn be connected to a lifting

hook (on a chain sling).

With the help of the chain sling, the panel can be moved to the desired position and installed.

Al
)
)
PR
)
Wl

([

ﬁm 1)} g
(T

T
3196605 0098t

—
= e EmYy s =
- e G @ G @ ) <SS @ G
e e s e e S RND
CERERSECRRED R
= ®9®§®

015 0 o (6 BB b

=g e R = = )

E=R LD = =

= =P =Yg == R =" P ==

.r_i-"‘ijj = _ =1 _ =

(= D= D= = =

<l _ Je=2 =S =
=1 E=8m=

=) =) = =) q

=1} = = =
G e e ae -
=88 =8 =8 s
o @ ) @ = ) &

000

O D L

EE) > =2




All adjacent panels must be connected in

)

M16x40mm

this way. Always install the panels so that the surfaces of the same type face upwards.

(

» MRS Super Heavy - User manual

The panels are connected and screwed together using washers and screws

Connecting the panels:

Fd a  ied 0 49\

NN N
MO AR A

LIETAON e AN
6 o of) fo @...,
(i %Mw.%_ v@%%%%.@%%%

4§28 9od fab b § dof dof 637/

\ 2 G 06 o 0 Hodod 6%

dw%% % &% %%%m% ' ‘..g. v, § %%ppo% m.% %_ FXN
NCVERATRRNE FIADANEEIED
SO LA § 5800 58560

\
Y

\

0 8,04 99809 9 8of § § dod BaR0
%%%% %%%pp%m %%%%%@é
8.0 o8 900 $29 9 § 4 Fodogodod 39
0 4§ §00 Fodod 9 & Gododododog
490 o9 Godhd 9 9 4 dadodeod
AN A AN Gk
YA Gt

B8 & 6 6 Bobod B B Hodod &4

£ §.555 990 6og & § Hog 4\
3 LN Xy, AN
= ) 008 $09 8 09 § § Fododod 4
£ 9 90 God §09 9 & § Fodododod
8 ) 8, § God Godud & & Godododododedal\
2 _@.%@@ 9 §ood 9 9 4 Badododadk )k
— 1 000 by
£ =®®._. Fogog ¢
E _@woﬁ%%
g ho 4 p%%_ % 4
3 5 AN XK
§ 4 3 gdo 4o 8, _a.&g #19 8 9odododogod 9 9,
§90000909 9B 4 § Fofod 8 8 oo 9 6\
09909082099 9 § § Fadad 9o 4o = of § § 9
Yhodadnduded § § fofof 3 9 = Wi @ 6 o hao
) fodadagad 9 9 § 05 9of §99 6 9 £ - %% BN
% viodnd § 9 99§ o 109 0 £ CEFEAR
aoF 55908 00 694 S '8 § o900 b
OO LX) B § § 09090 9
880 dodoh 4.9 93 § 7 Jodegs S ) § §odododod 9
S Y 2&. = P AARA
6 § dognd 929 00,4 § Jod 34 s
$ofof 4of 90 § §o8 408 g ! 9, §odefodod
23 90§ $139 § §08 90 5 2 4 §ododogo
5.9 003 Jo 4 9 & of § @ 1 9 & dododogo
9 dof o8 £ 9 9 6 9od o = 9 9 9 dodogo
XYY %mo © 9 § § §odo
20 55 909 4.9 49/ 2 $99 & 1 §o
S/ 2 AN X
ﬁ %%%%u g g @%%@ @@ﬂ, .
X ] 0 (o)) loQogo 00
09, odnguded’ 9 § & g 9 B9 9 3 fododaf 9/, _
,,,,,”m%&wmw&M@.M%M%vM@ww_% %M“wawﬁ 5 .%%w%ﬂ XL %.m. %& )\
LA g ”Ma_ AN FER RN
2

this way. Always install the panels so that the surfaces of the same type face upwards.

Connecting the panels together (vehicle side):

4m side: 8x screw M16x40, 8x washer
2m side: 4x screw M16x40, 4x washer



» MRS Super Heavy - User manual

Connecting the panels to the ramps (vehicle side):

The panels are connected and screwed together using washers and screws (M16x40mm). All adjacent panels must be connected in

this way. Always install the panels so that the surfaces of the same type face upwards.

Ramp above:

2 m long: 4x screw M16x40, 4x washer

Ramp above:

9 9,5 99009090609
/8 597, 60990908 & 9 61
D 999 Q 9, 9000000 & 9 G

§ §2900 9 90008 & & & 4
9 §290990 8 % 908 § § Fod

4 m long: 8x screw M16x40, 8x washer

Ramp beneath:

9,999 9 pided §

8x washer

2 mlong: 4x screw M16x40, 4x washer

4 m long: 8x screw M16x40,
Ramp beneath:



» MRS Super Heavy - User manual

General information

Unloading:
The panels can be unloaded from a lorry using a forklift truck. When lifting, special care must be taken to ensure that the panels cannot

slip or fall off. The panels can also be unloaded and installed using a crane.

Storage: Never stack directly more than 3 panels at a time. It is recommended to stack a maximum of 4 packs of 3 panels on top of
each other. Each package can be separated by 4 square timbers (100mmx100mm) to allow later lifting by forklift truck.

T e e S TS e S e e e e T s eI et e et s, e e
e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e = ~ =
. e — = o _— — e e e T
e = — e =
(- —— e e e e i
o = T el Tl el -
= - == —
et — -
—— ==, — i X
e .
o '.I
=
e e — e —— = = e U
e i Eom Y _—
g = =
= - = =
= . e
== — =T ==

e S
= =

=5 =
— e __
e e T = e
= -

= =

— E=5

a fff

Use of the panels:
Single-sided use. The upper side has a high profile surface (suitable for the use of construction vehicles).




